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QUESTION 1

You must implement a backup infrastructure for a remote office. This office has enough data to fill a single tape each
night. You can remotely schedule and control your backup server backups throughout the night. The staff at this site is
not technical and will not touch the equipment. You only need to store the last five days worth of data these tapes. What
solution purchase and administrative costs? 

A. Deploy a tape autoloader with enough tape slots to support a new tape for each night 

B. Deploy a set of five individual tape drives to the backup server each with a tape preloaded then rotate the tape drive
you use each night. 

C. Deploy a tape library with multiple tape drives to ensure quick backup and enough tape slots to support a new tape
each night. 

D. Deploy a single direct attached tape drive to the backup server and instruct onsite personnel how to swap tapes to
ensure a new blank tape is available each night. 

Correct Answer: A 

 

 

QUESTION 2

Which statement describes archiving? 

A. Archiving is implemented for UNIX-based mail systems. 

B. Archiving provides copies of current data to be used in the event of a disaster 

C. Archiving selectively stores frequently used files and data on high performance media 

D. Archiving stores infrequently used files and data on lower performance media 

Correct Answer: D 

 

QUESTION 3

What are two advantage of NAS ?(Choose two) 

A. is not limited to the throughput of the LAN 

B. is appropriate for block level access 

C. uses existing network infrastructure 

D. more scalable and flexible than DAS 

E. is not impacted by traffic on the LAN 

Correct Answer: CD 
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QUESTION 4

Which Security method is used to insure that a particular host only has access to a particular LUN? 

A. port binding 

B. hard zoning 

C. soft zoning 

D. LUN masking 

Correct Answer: D 

 

QUESTION 5

Which subset of target devices allows for scallability beyond the 15 device limit in parallel SCSI? 

A. target ports 

B. I-T-L Nexus 

C. logical units 

D. command Descriptor blocks 

Correct Answer: C 
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